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1. Electric charge

When a polythene rod gains a negative charge when it is rubbed with a cloth.
Which of the following statements best explains how this happens?!

Sljbell (o sl ylad debs) add aic adlw dinud Gridgdl cubd Cuwidy loaic
Glam Gnay wdud (Jael JSudiu apdas aJul

=]

@  Protons transfer from the cloth © electrons transfer from the cloth to the
to the polythene rod polythene rod
Ot gl ciad ) Galedll (e Ugig Al JaiiG Ol sl ol ] Galaddl (e g ASIYN Jasis
@  Protons transfer to the cloth @ Electrons transfer to the cloth from the
from the polyethene rod polythene rod
O 9l Cauad (o Giledll ] ©bgig Al Jasis o) B (o uledll dalad () g IV Jaiis

2. Electric charge

In the figure, two isolated bodies (A and B) are suspended freely.

Which of the following can be correct about the charge type on the two
bodies?

\ / Gy (B g A) cuilgjes cpowmsa Gulei ol (J4udul 9
DE : . |\ i JS <
ol Gle dinddl egi glin byao ggdy gl gday Il go @l

@  A:positive @® A:negative © A:negative @ A: neutral
B: positive B: negative B: positive B: neutral
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3. the elementary charge

Which of the following represents the elementary charge?

Sadgdl dinuidl Jiay Ll lao sl

@ 1.6x10°C (@ Charge of one proton © 1.6x10°C @ Chargeof 1.6 electron
d>l9 0939 dioedd 0983116 &

4. Electric charge

Which of the following can be correct about the charge equals +2 C

@ 2electrons @® 1.6 X 10"’ protons © 1.6 X 10" electrons @ 2 protons

5. Electric charge

How many electrons have been removed from a positively charged
electroscope if it has a net charge of 7.5 X 10711 C?

gduw gjis)yl dingo dinud o culyjl LUl Glgpis)yl sac a4
¢ 7.5x 10711 C adsJl aiinu il 13|

@ 75x10™ ® 1.2x10° © 2.1 %107 @ 4.7 x 108
electrons electrons electrons electrons

6. Coulomb

Which of the following is equivalent to the coulomb ( C) ?

S (¢)pglgdll Jaloy Ll lag sl
@ A.S ) S.A™ © A.S™ G) A.S™
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7. Charge

A piece of a metal with a charge of (+6.0C) contains (1.6 X 10*"electrons).
What is the number of protons in this piece?

{ygpsl|1.6 X 101) (+6.00) Llc (sgins lgiindd (Jaeall (4o dobd
“debdll oam (9 Wligigpll sac Lo

@ 1.6 x 101° @ 6.0 x 107 @ 5.35 x 10%? @ 2.15 x 10*°

8. Bonus Q@

How many alpha particles are needed to produce a total charge of 2.5 X 10712 C?
(Hint: Each alpha particle contains two protons.)

2.5 X 10712 C \mjlas0 dlan] dinud oy dojulll )l Olopus sac g4

(igigp Lle Wi apus J4 sging :asali)
@ 78x10°% © 7.8 x 10° © 1.5x 107 @ 1.5% 1077

9. Bonus Q@

The figure shows a blue ball which initially has a charge of +6.4 x 10" C, then it touches a

neutral red ball. After the balls are separated, the red ball has a charge of +2.6 x 1 08C ,
what is the charge on the blue ball?

@i +6.4 x 107° C sqluw dinub aylayl (9 Joai culd e§)j )5 Jauill abgy

Sl elpandl 638J1 dinut ool sl Josil aey .daleia cljan 64 Cuugld
Gel§ )l 63801 Ginuis Lo (+2.6 X 10780).

@ ocC O -64x108C © +3.8x108C @ -38x10%C
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10. Insulators, Conductors, Semiconductors, and Superconductors

Which of the following are materials that have zero resistance to the conduction of electricity?

Sayilgs)l adogall Cuyn (o dypen daglaa lg) Wl slgall (o sl

@  Insulators ® Superconductors (© Conductors (@ Semiconductors

Jlgal Jue gl 486 wlogall o gall o gall lii]

11. Conductors and Insulators

Which of the following explains why diamond is classified as an insulator?

Sbpgs Jile ail Gle ywlall aginms pudy b lao sl

@  Diamond cannot be charged. (©  The number of electrons in diamond is less
Adad (Say Y ) than the number of protons.
g g el dae e B el & g STV S
® Electrons can be easily removed from diamond. @  Charges cannot move easily through
o) e Al sy L)) (S il 5 S diamond.

12. Insulators, Conductors, Semiconductors, and Superconductors

Which of the following is a material with the smallest resistance to conductivity

cUyg3Jl uogil dagléa ool lg) slga (DI (o Sl

@ Insulators ® Superconductors  (© Conductors (@ Semiconductors
J)lgd! Jue gl 2512 Do gall s gall Mo goll oluid
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13. Insulators, Conductors, Semiconductors, and Superconductors

Which of the following statements about electrical conduction is true?

¢ JLpasdl Jwogill (e dapao @il oljyall go @l

@ Insulators have low electrical resistance. ©  Metals are good conductors of electricity .
o Al ,pS anglao lgaad J;lg=ll cU Sl d0u> WMogo wizall s
@ Electrical resistance of superconductors is zero at room @ Silicon and germanium are examples of
temperature. superconductors.
Jrosidl asild wMogel) asl »pSJl dnglanll WS aasld slgall (o pgulo,xly LSl Juiey
a9,2ll 8> xic 00 Sgluwws cb,p Sl Juogill
14. Charging

The diagram shows four steps for charging an electroscope in a wrong order.
What is the correct order of these steps?

Gall Gy ye GIlpgs BLLS gaub dlao) ams YAy o pe Olgh el gu Y4l
Slg) aradl il gay Gl oo sl

A B C D
@ A—B— C—D ® D— C—A—B © D>4A4—-C—>B @ D—B—A—C
15. Charging
shows figure The by charging. . ...........

......... dhuwlgy ol Jsudl aogy

@ Triboelectric ®  Contact © induction @  Grounding
) Juan sl N o)
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16. Charging

In the figure, a rod carrying a positive charge is brought close to an uncharged electroscope without

touching it. When the connection to the ground is removed, which of the following is true’?
U & H:‘-: ngL!J.Bé kjl_j:bé ua ('j',!JLw o o - I J SLLLJ w‘}-&j- FL‘J. 5?..:)9.0.” IS - II gg
Saapae aJwl uljuell Sl .Gl sley] ai (oWl José sic .awady gl gga

b S LS

b dlu

@ a ball and conductor are both negatively charged. © aball is positively charged and conductor
el Wl LdMS Jogollg 6,81 is negatively charged.
Azl LIl Juogolly cdixid| &g 8,5
® a ball and conductor are both positively charged. @ a ball is positively charged and the
il =90 LodMS Jogolly 6,5 conductor is uncharged.

gz juf Jogolly izid] au>g0 8,1

17. Charging

In the opposite figure the charge Q approaching an uncharged metal plate without
touching it. When you switch of the key S and then remove the charge Q.
Which of the following is true?

. ( dinuid “I:LQ.g!pJS(DLIé.oJIPJLé:\i.coJu.oJJ"@i U9 Ugauwiug }mépgggJun)waJuJ "'IL‘;L“.éng:_LaJI(I.ﬁJuJ"IL",Q
CQJJ.DQJJJJIUQ@I

Connector Wire

Meta/ S
Plate
@ The plate has a negative charge © The metal plate remains uncharged
)l @imeiu 2ol i Vg aino e zolll (say
(@ The plate has a positive charge @ unidentified the type of charge
Bu>g0 &izin goll i 2ol &z 95 Maxi Sy V
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